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1 | Pemmuts  ypaBmHenwe ormocuresbro x, ecau a#0, b#0, a#hb
a’?—b  a®>—ab ) i
= 2 / Solve the equation for z if a#0, b#0, a#b
x a
a® — b? B a® — ab
r  ab
a’+ab  [2] b? +ab ab — b? b? — ab a® — ab
2 | Ymcso logg; v/3 pasmno / Calculate logg; v/3
1 1 1 1 4
1] — —= 3| = - 5] =
iy Bl j 12 3

3 | O6uacrb onpenenenus Gyukuun y = /3 — | 2 | coBuagaer ¢ muoxkecrsom / The
scope of the function y = /3 — | 2| matches the set
r>3 [2] 2 <=£3 r<-3; x>3 —3<z<3 x> 43

4| Usnpamveix A) 22 —3y =3, B) da+6y =5,C) 1,52 +y =7, D) 22+ 3y = 6,
nepnenuKyJsipabl / From the lines A) 2z — 3y = 3, B) 4x 4+ 6y = 5, C)
1.5z +y =7, D) 2z 4 3y =6, perpendicular are
AuB/Aand B [2] CuD/Cand D AuD /Aand D
[4] BuD/Band D [5] AuC/AandC

2 2

5 Boraucimrs (\/2 +vV3+ \/2 - \/3) / Calculate (\/2 +vV3+ \/2 - \/?j)
Hs E: o @2  [Eas

6 | Paccrosmme ot Toukn (—0,5; 2) 10 ocH cuMMeTpUH TapaboIsl y = —x2 +4x +5
pasHo / Distance from point (—0.5; 2) to axis symmetry of the parabola y =
—22 + 4z + 5 is equal to
A: B+ G2 @s [

7 | B apudmernyeckoit mporpeccun u3BectHbl a1 = sin 30°, ag = cos 120°. lecarsrit
ee wien paBen / In the arithmetic progression, a; = sin30°, as = cos 120° are
known. Its tenth term is equal to
0s [Elss [0 5,5 05

3,2% + 6,42 3,22 +6,42

8 | Yueno ﬁ pasno / Calculate ﬁ
2 2 40
e ol o2 @ @Y

9 | Hamvenbimee snagenne dbynxmm y = 2 + 0, 522 pasro / Find the minimum
value of the function y = 2z + 0, 522
[: [ [+ E-2 [

10| Benocunenuct BhIexaa U3 roposia B TOCEJIOK IO JOpore, JJINHA KOTOPoit 24 KM,
a BO3BPATWIICS TI0 JIpyToit gopore jauaoit 30 kM. XoTst Ha 0OpaTHOM IyTH OH U
YBEJIMYIIUII CKOPOCTD Ha 2 KM/H, OH BCE JKe 3aTPaTujl Ha OOpaTHBIN 1IyTh Ha 6 MUH
60JIbINIe, YeM Ha MyTh U3 ropoja B mocesoK. C Kakoil CKOPOCTHIO BO3BPAIIAJICS
Bestocunienuct? / A cyclist left the city for a village along a road 24 km long and
returned along another road 30 km long. Although on the way back he increased
his speed by 2 km/h, he still spent 6 minutes more on the way back than on
the way from the city to the village. At what speed did the cyclist return?
14 xkm/4 / 14 km/h [2] 13 xm/a /13 km/h 12 xm/4 / 12 km/h
17 km/a / 17 km/h 16 km/a / 16 km/h

3
11 I'pacduk dyskum y = 5 JIEXKUT BBIIIE MPSAMON y = 1 IpU BCEX T U3 MHO-
3
xkecrBa / The graph of the function y = 7 lies above the straight line y = 1
-z

at all z from the set
(—o0; =2) U (1; 400) (-1 2) (05 +o0)
(=005 2) U (5; 400) (2; 5)

12| KsazparubiM ypasHeHueM ¢ KOpHsAMH, paBHbIME cos 60° u ctg 60°, asisercs /
Find the quadratic equation with roots equal to cos60° and ctg 60°
[1] 222 - (V3+ Dz +v3=0 [2] 622+ (3+2V3)z+v3=0
[8] 222 +3v3z+3=0 [4] 222 -3V3z+3=0
627 — (3+2V3)z + V3 =0

13 2 1 2 1
ECJ’II/If(.T) = ﬁ_m, TOf(\/g) paBHO/Iff(.T) = 1 _m, then
f (\/3) is equal to
[ 5 B2 Gl G o

14| TIlpsmbie y —a?x+1=0wu y = = + a He UMerOT 06MUX To4eK, ecam / The lines

y—a’z+1=0and y = z + a have no common points if

[1]a=2 [2la=%1 [8]a=%2 [4a=-1 [5]a=1
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. dcosa — Jsina
upu ctga = 2 pasna / Fraction ——— for
2sina + 3cosa

5cosa — 3sin o

6p —— — "

Apobe 2sina + 3cos o
ctga = 2 equal to

4 1 13

1| — i -

7
] -1 § By
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Ecin kaTeTsl npsiMOYTrOJIBHOTO TPEYTOJbHIKA PABHBI 24 ¢M 1 7 CM, TO MeJAAHA,
runiorenyssl pasaa / If the sides of a right triangle are 24 cm and 7 cm, then

the median of the hypotenuse is
12,5 em /12,5 cm IEI 13 em /13 ¢cm 6,5 cMm /6,5 cm
Izl 14 c¢m /14 cm 10 em /10 cm

17

Homep  momuepkHyTOrO  UjieHa ~ TE€OMETPHYECKON  ITOC/IEIOBATETLHOCTH
—-1,2,—4,...,128, ..... paser / Number of the underlined term of the geometric

sequence —1,2,—4,..., 128, ..... is equal to
8 [5] 5

18

9 [2] 7 6
6 - sin 35° - sin 55°

Yucno 0 sin 357 sin 55 pasuo / Calculate
cos 20°
1,5 tg 20°

cos 20°
12 [2] 3 6

19

Ecan BIazkKHOCTD HIIEHHUIIBI, TOCTYIIMBINEH Ha 3epHOCYIIHIIKY, cocTaistia 40%,
a mocJie IPOCyIKN OKazaiach pasuoit 20%, To mmenuna norepsia B Bece / If
the moisture content of the wheat entering the grain dryer was 40%, and after
drying it turned out to be equal to 20%, then the wheat lost weight

25% [2] 30% 1000 20% 15%

20

Buccekrpuca npsiMmoro yriia TpeyrojbHuka ¢ kKareramu 3 u 9 pasna / Find the

bisector of a right angle with sides 3 and 9
[v i [lers @z [

21

MuozkecTBO pemenuii nepasencTsa Va2 — 22 + 1 > 22 pasuo / Find the set of
solutions to the inequality vz2 — 2z + 1 > 2x

(—1;400) (3;+00) (—o0;2) [4] (—o0;-1) (=005 %)

22

Bce 3HaMeHns a, Ipu KOTOPHIX napaboa y = a — 4 — 22 HOJHOCTBIO PACIOJIo-

JKeHa HUKe ocu abcruce, onpeaensaorces nepaseacrsom / All values  'of a for
which the parabola iy = a — 42 — 22 is completely located below the x-axis, are

determined by the inequality
a<2 E'a<0 a<74 a>4 a>0

23| Pasnobounas Tpamenus c miomaasio 40 cm? u 6OKOBBLIM pebpoM 8 cM Taxo-
Ba, YTO B HEE MOXKHO BIIUCATH OKPY’KHOCTh. Pajinyc oKpy>KHOCTH paseH / An
equilateral trapezoid with an area of 40 cm? and a side edge of 8 cm is such
that a circle can be inscribed in it. The radius of the circle is
H: [ [Ew @5 [z
24| Cymma kopmeit ypaBuenus sinx = —0,5, IpuHAIEKAMNAX MTPOMEKYTKY
[-7/2; 2], pasua / Find the sum of the roots of the equation sinx = —0.5
belonging to the interval [—m/2; 27]
4 s 177 147 8T
e m 1 i o
3 6 6 3 3
25 V5 + 9z — 222 .
MHoxkecTBO pelteHnit HepaBeHCTBA VOTI T pasuo / Find the set
(@=1) (@7
V5 + 9z — 222
of solutions to the inequality ———— < 0
P G @ -7
(35 BEl@meo By @ k) 6
26| Ecan f(z) = xcosz, 0 f (n) pasusercs: / If f(2) = zcosz, then f (7) equals
to
O E- -1 @o [
27| B kpyre paguyca 13 paccrosinue MexK 1y JBYMsI MapaJslIeIbHBIMUA XOPJIAME JIJIU-
ubl 10 u 24, pacroioxKeHHBIME 110 Pa3Hble CTOPOHBI OT IIeHTPa, pasHo / In a
circle of radius 13, the distance between two parallel chords of length 10 and
24, located on opposite sides of the center, is
i s B @u @
28| Hammenbmree smavenme Gynkmmm y = 4sinaz — cos®>x + 9 pasro / Find the
mimimum value of the function y = 4sinz — cos? z + 9
; i : ; 1
1 _ 2
29 IIpousBomnas pyHKINMT Yy = 1—’_307_’_2 B Touke © = 1 pasua / Find the
—z+z
1 2
derivative of the function y = o at the point x =1
1—x+ 22

[1] 1 [2] 4 [3] 2 [4] 2 [5] 0
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z—1
I'padukn dbysrnmit y = % uy = |r — a| uMeT TOIBKO OJHY OOIILYIO
T —
z—1
TOUKy 1pu Bcex a u3 MHOkecTBa / The graphs of the functions y = % and
T —

y = |z — a| have only one common point for all a from the set

[~1;0) (—2;0] [~2;0) [0;2]

(0;2]




